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B

E£E27F1000 1 245 & AlAe] 2 s 5 syt
44
1) — =0.044
W) Tooo
(2) 233 _ 0333

1000




2. o FeAl 51 T A7 2L A

i

DT T2AQ,

®s50 @510 @500 @510 © 501

a4 okl 2 AHele] 0.2 AR 4 gt
444 ofd) 2 AHele] 0 2 Aefste] Lrehiw

@513 5.01® 5.194t}.




e HhEA ARt A& A2AlL.

(1) 0.71+0.37  (2) 0.04 +0.25

@) 1.08 (2) 0.29 @ (1) 108 (2) 0.21
® (1) 1.08 (2) 0.19 @ (1) 0.98 (2) 0.29

® (1) 0.98 (2) 0.21

(1) 0.71 + 0.37 = 1.08
(2) 0.04 +0.25 = 0.29




ZFAHL 5hFo 8904.35kg O] HS

7980.46 kg 9] A2 ity Z3A|
kg 9] A& t AYAtsh=A] oHA L.

» = kg

> HE 923.89kg

CREEE DT

8904.35 — 7980.46 = 923.89( kg)




SAlS SHA 2.
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5.

2.254 + 3.993

6.247




[ ]otel ggre 42 Az HYe AL 12X Q.

10.802-7.263 - 1.998 = |-1.998 =[ |

@ 3.528, 1.54 @ 3.529, 1.541 ® 3.538, 1.54
@3.539, 1.541 ® 3.539, 1.551

10.802 — 7.263 — 1.998
= 3.539 — 1.998 = 1.541




7hegolvli= oAl 6 L75mL o] {5 AHER Y

S-S AGASU. oA 05 A8 7
A2,

> E

|

> & 10351

6L75mL = 6.075L
ojA|et @5 AHEE TR 6.075 + 4.275 = 10.35(L)




e HhEA ARt A& A2AlL.

(1) 6.871 4 3.95
(2) 41.26 — 9.872

@ (1) 10.711 (2) 31.378
® (1) 10.811 (2) 31.378

® (1) 10.911 (2) 31.378

@ (1) 10.721 (2) 31.388
@)(1) 10.821 (2) 31.388

6. 871
1) + 3.95
10.821
3 10 11 15 10
4r. 28
(2) - 9.872
31.388
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® 7o) Al 7t %




Al 2% o

Srelliz 0 28 9 7H4] o= 524 Folm Fth A

&apo] A7]E Hlaste] 22 SHH 7|98 AR 2 S T EAL.

& 90.296 © 99.300 © 00.158
O -0-© @ 0-0-0 ® ©-6-©
® 06 ®e-a-0
@ 95 Y2 99.296
©°f 95 Y21 99.399
©°ll 95 Y2 ™ 90.158
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11. o= 29ste & SollM, 7H &2 78 A2z 7|e8 2 A

o AYU7A?

@ 0.01 ©] 104 Q1 =Xt} o5 ] & 5

© 9,5454%540'@1%4

© 0.093 ] 10 HjQl +Ht 0.1 5 2

D)6-©-0 @ ©-0-0 ® ©-0-©
@® ©-6-0 ® 0-06

@ 1.04 Bt} 05 9 2 £ 1.54

© 0.954 Ht} 0.1 § £ 4> 1.054

©0.93 Bt 0.1 § & - 1.03
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12. Q) Aeol 52 2 oW, 2% B Aele] 24749 A 25 A
Ae] 4 % 207 Mok 2 5% BE @ AU

> E: %

> ®HE 97

==

2 o ]9 &4 Al A7 £ FollA 2.97 Bk 2 $E 2,991,
2.992, 2.993, 2.994, 2.995, 2.996, 2.997, 2.998, 2.999 0] L& 9
Ayt




11cm

99+3 = 33(cm)

2ol 9] 3Hjo]

[ [x3=33,[ ]=11(cm)




2 AU
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15. A 71E & o RATE ARt T o Al &b & 5 50 ol 71

o

al

vV ¥V
o
L

51.247

B ~

50 ofl 7P7kE A4 Al AHe] =8 THET 47.521,51.247 o]t}
51.247 — 50 = 1.247, 50 — 47.521 = 2.479

mEbA], Fo| R &2} FtEE AFESt] THE A4 A & 5= F
50 ol 7F4 7172 o 51.247 o]t




